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AH Y5 FHRF RS | PEH AfE(D) | P E) | ZfE(r) PEHY mfE) | P EM) | ZhEr)
RIART= W 23 12 11| Kg |EE 1,836 540 & 2,160 1,944
BB\ 2,758 2,758 Kg 1,566 800
BEEIZED 258 22 236 Kg |7&BS 1,296 1,080|1= Syl 1,728 282
RAROL® 23 2 21| Kg [|Ri&E 1,404 2,700 864
BIEV¥H 197 192 Kg [EBRES 540 - #B[E 21,600 216
BTz 1 1l Kg |E=E 1,405 2,160
l3H 2 2 Kg |&&E 378
PHIEE 34 9 25| Kg |EE 1,620 486 1,944 864
7=Z 270 206 64| Kg |K& - =28 2,592 1,296 4,320 1,080
HIESC 176 96 80| Kg |K& 4,104 1,728 5,616 3,780
WEEZ 61 61| Kg 1,404 1,080
P 23 23] Kg 38,880 16,200
BAO 98 98| Kg EIRS - e 6,000 4,000
BEDAIED 303 303 Kg 2,106 1,404
Wbl 719 719 Kg 486 216
W L 32 32| Kg 324 270
fd L 34 34 Kg 486 374
SE 420 420 Kg 821 352
FA WD 3 3| Kg 1,800
BB 949 949 Kg iR 1,998 1,080
(AHELSA 441 441 Kg 4,104 3,240
Eh1EECAH 771 21 7501 Kg |@* 1,858 3,024 972
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303[A 27z 360 360 Kg R 500 463
305|xAah>0b 9 2 71 Keg [EE 1,404 i 5,400 3,780
306|Le &Y 9 9] Kg . 1,260 1,188
319|2h o 8 8] Kg R 548

332|= 13 WA =EF 199 199] Kg Bl = 3,024 2,052
351(4EH 14 3 11| Kg |EE 4,860 =, 9,180 6,480
35411FxE<Y 98 20 78| Kg |FE 1,620 1,612|= 2,376 1,134
355(mp Y 110 110 Kg A - BE 1,728 600
356(L L& 60 60 Kg SER 1,512 810
357|7RE 28 28 Kg FEE 1,944 945
362(m & 461 461 Kg IN= 3,456 405
4025 5 &E 5 5] Kg A0 5,184
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512| A& AL 74 74| Kg b 1,450 594
523| A EARAT 2 O 541 541 Kg =] 3,672 1,125
54| ARE & 2V 132 132| Kg Bh 2,280 1,320
5h4|E X BA AR 300 300| Kg b 750
558| 30 30| Kg b 1,296
560|487 2 332 332| Kg =] 3,666 1,550
576|4R & 1F 10 10| Kg =] 1,836
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70110 BA 2,165 2,165 Kg B 3,432 918
705|7=2< ¥ 52 521 Kg LA 2,484 1,944
709(Wb L AT 10 10 Kg FiE 525
710|195 2 ®HA0F 583 583 Kg == 1,375 162
713|L L» & HF 17 171 Kg bF 972
BlEFAI L 23 23] Kg EE 1,192 720
755|FH®» C 167 167 Kg EE 771 710
T56(FNET 12 12 Kg SR 1,144
759|358 E£ E 18 18] Kg = 1,260
7611 b BHAEL 6 6 Kg AL 1,980
76713725 W 61 61 Kg FJE 2,160 1,620
801 [IBAL = 1S 78 78] Kg ¥ -mA 1,728 1,450
802|1 x| 20 201 Kg mE 1,242
8051 1E 1,182 1,182 Kg JbiF 972 702
810|FAKF 38 381 Kg bF 2,638 1,728
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